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public class MyRunnable implements Runnable{

public void { & Runnable olEiHI0l 22| run GILTZ 2eHUOIT 4
System.out.printin("S&Z A3 StL|Ct.");
}
}
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public class ThreadTest {

public static void main(String[] args) {

Runnable threadRun = new MyRunnable();
Thread myThread = new Thread(threadRun);

myThread.start();

}
¥
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public class MyThread extends Thread{
public void(run()){ & Thread 3o L2l run Oz T QuitbolT %
System.out.println("=S2tZ A3 SHL|Ct.");
} public class ThreadTest {
} public static void main(String[] args) {

Thread myThread = new MyThread();

myThread.start();
}
}
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static void sleep(long msec) throws A
InterruptedException 2|
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void join() throws InterruptedException =7t 22 W 74 Gizle, A OIS
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try { rmf 2 2% 2 TS
Thread.sleep((1000) ;

}catch (InterruptedException e) {
}
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public class MyThread extends Thread{ AIEEE BLESE MTEECIES |

public static void main(String[] args) {

ublic void run
s O Thread myThreadl

: ; "I 2RSSt "
System.out.println(this.getName()+"7} =& SL|LCL."); Tresr T

new MyThread();
new MyThread();

} myThreadl.setName("Thread One");
myThread2.setName("Thread Two");

myThreadl.start();
myThread2.start();

}
}
Thread One? S22 3tL|LCt.
Thread Two7} =22 3FL|LCt.
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public class MyThread extends Thread{

public void run() {

for(int 1 =0; 1 <5 ;i)

System.out.println(this.getName()+"7}

Thread myThreadl = new MyThread();
Thread myThread2 = new MyThread();

myThreadl.setName("Thread One");
myThread2.setName("Thread Two");

myThreadl.start();
myThread2.start();
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